
 

Lecture to

warmup 1 Determine whether or not the functions are l to I

a f x X 8 fan is l to i it poss Kor
b f x x2 2x lire test

_µ her line four sends each real
test yes to a that is unique
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not l to I



2 Express FCK 3M as a composition
of functions

f og
x f gas

GCN Cx 25 fog x

where f G X g Ct x Z

c f g x f x z x 2 Gce

g
x X 3 f x Tx
f og

x f X 3 3

ha XZ K X x 3

Koh X K x 3 g x

FCH fo Kohat

Defnoo F A B A B sets of real f is l to 1

then F B A is given by
f y x where f a y

f is called the inverse of f
f of yl y

e f lo f x x

dom f range f

range F doin f

Ex f X X l f y y 11

Verify f of y f ytl y 11 I y
f o f x f X l x 1 1 X



Fact If Foy y y and go FW X then g is

the inverse of f 7 is the ine of g

Ex f x x f y Ty
f of y f Ty Ty y
f of x sin

Rink Solve for the inverse by hand

y f x

solve for X in terms of y
Set f y X exp in y

Ex f x X I

y f x X I

x y 11 f y

Ex f x Xs 4 12

y f x x5 4 Iz

2y x5 4

2y 14
5

57 4 X f y
is f of y f 4

5M 75 4 12
2y 14 4 12
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Ex f H X 41 2

y f x X 41 1 2

y x 2 X 4

y 2y x 4

2y 14 X y x

2y 14 X l y
x
2,1442 21,147 f y

Rink's Graph of F is the reflection of the graph of f
across the line y x

ref across y X interchange x y values

Ex f x Tx f X
ar

l



Rink Reflect Hor lines across y x they go to wer lines

For pass tear line test inv fan passes ver

line test ie it actually is a fan

Ex f x XZ

3
e lie

Section 3.1 Quadratic Functions and models

Defn the standard form of a quadratic function
f x ax't b Xtc

y
interchange via

is the form completing th

f H a x h k square

f x x't x Ly f x Iz
Z
Ly

The vertex of the graph of f is the point h K

vertex is the Loc minimax of the quad N
If a 0 then f opens upwards



i p p
ACO downwards

F achieves a local minlmax value of K at h a

A CO

Facto range f K c b when a o

C b k when a co

Ex f X 2 2 12kt 13

a Std form
b Vertex
c X intercepts
d y intercepts
e graph
f domlrange
a f x 2 2 12 13

21 2 Gx t 13

2 x 3
2
9 13

2 X 3 2 18 13 26
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2 x 372 5 104
b Vertexes 3 5
c X intercepts 8 7 x _O 2x 12 13

when 112 I 74 4
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F done f C is 10
range f f 5 to

range f is def by a and vertex
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Ex f x 5 2 30 49 discrim f
a Std form 302 4 C 5 C 49
b vertex 30 20.49
c

range 900 980 LO

a f X 5 2 30 49

51 2 Cox 49
51 2 6 9 9 49
5 cx 9 49
5 x 3 4

b vertex 3 4

c
range f C co 4
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